CLASS : 12th (Sr. Secondary) Code No. 4329
Series : SS-M/2019

Roll No. SET : D
LGRS RCE G

CHEMISTRY
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appears Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

° U TT FX G [ 59 FTGT 7 FRT 7T 16 T
797 21 81
Please make sure that the printed pages in this

question paper are 16 in number and it contains 21
questions.

° To7-qF H qfe & # ST [T T #E T T 4 FH
B FY-giérenl & G0 U7 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

° FYI G957 FH FA [IGT JE@ 7 & Yoo, T H BHH
I [

Before beginning to answer a question, its Serial
Number must be written.
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o Fv-gikTmr # &5 4 @l 1/ 91 T Sig)
Don’t leave blank page/ pages in your answer-book.

o FTT-YhdHE % SaRF P g e T A o
STFEAET & @ 3T forar Fav T Fe
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the uwritten
answer.

o ghereff T el To FIT-UF UT o7gsT i@

Candidates must write their Roll Number on the
question paper.

o U g9l F I @7 @ g4 98 GARaGd & & & JeT-IH
g7 q @& & YO % Iy 54 a5 § #HE A @
BT TE] [T A9

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A [R5 : -

(i) & F97 SfFar &

(i) 797 7@ 1 § 958 (i - xiv) FEGTS 597 & qI9%
Je7 1 % 81 [RgER §7 Je7 % Fav
g

(iii) 797 G&r 2 @ 11 T STy FTINT 597 &1 9%
97 2 SfF F 8 FAF FIT F ITC TTHT 30
gzt 7 &y
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(vi)
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797 dE 12 § 18 7% T FAGT FoT &1 IA%
797 3 GfH F &1 F9F F9T F FTT TTHT 40
gt 7 &y

797 TEr 19 § 21 dF A9 FT0T F97 81 H9%
97 5 FH T 8 FAF FIT F FAT TTHT 70
gt 7 &y

g9 § @5y @Y @ & [Qeey 78 &1 a9y 5
FE ard gt 5 FTHT FIT F TARE TIT FaIT
4 a7 & 9a gedl 7 @ o paT @ & 797
e 81

General Instructions : —

(9
(%)

(iii)

()

(v)

All questions are compulsory.

Question Number 1 consists of Fourteen (i-xiv)
objective type questions carrying 1 mark
each. Answer these questions as per
instructions.

Question Numbers 2 to 11 are very short
answer type questions of 2 marks each.
Answer these in about 30 words each.
Question Numbers 12 to 18 are short answer
type questions of 3 marks each. Answer
these in about 40 words each.

Question Numbers 19 to 21 are long answer
type questions of 5 marks each. Answer

these in about 70 words each.
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(vi) There is no over all choice. However, internal
choice is given in all long answer type
questions of 5 marks each. You have to
attempt only one of the given choice in such
questions.

[ a&giss 99 |

[ Objective Type Questions ]

i agfaehedid 9T & @8 fdeed gAwt Ini-
giRae ¥ [T

Choose the correct option of the following

multiple choice questions and write in answer-
book :

1. () 59 5R & 39 fagq o, smcas iR &4 e
g7 1
(A)  oTiEE S (B) oTafE 3
(C) dricash 3 (D) GegdIoT® 3

What type of solids are electrical
conductors, malleable and ductile ?

(A) Molecular solids
(B) Ionic solids

(C) Metallic solids
(D) Covalent solids
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(i) =1 & | e Qe 2% o & 99 Haifs
g7 1

(A) 0.1 M Aly(SO4)s
(B) 0.1 M CgH;,05
(C) 0.1 M K,SO,
(D) 0.1 M NaCl

Which of the following has highest value of
Van't Hoff factor ?

(A) 0.1 M Al,(SOy4);
(B) 0.1 M CgHy505
(C) 0.1 M K,SO,
(D) 0.1 M NaCl
(i) T PifC B ATHBRAT P I B 1
(A) @O qa8 W HIH FHA fager
(B) TN & BB

(C) N,O5 H HAYEA
(D) Tehl® & e
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An example of Zero Order Reaction is :

(A) Thermal decomposition of HI on gold

surface
(B) Hydrogenation of ethene
(C) Decomposition of N,Osg

(D) Inversion of Sucrose

OH
(iv) (:(+socz2 X +S0,+HCl, XFNE ? 1
OH ol
@ (TFa ® (1
Cl OH
© (of m L,

OH
() +80CL, - X +50, + HCl; what is X ?

() [}(c)f e
© oY (D) [IZZH
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(v) TN Hig Afhar @ RH-9 e AR &

frem e g ? 1
(4) uldies Uceerss

(B) [ifew HrH

(C) UhieEH HieH

(D) TAfess fceerse

What type of organic compound are
prepared by Gatterman-Koch reaction ?

(A) Aliphatic Aldehyde
(B) Aromatic Ketone
(C) Aliphatic Ketone
(D) Aromatic Aldehyde

Fr=ifiad gst & S g& a1 § al | e -

Answer the following questions in one or two
sentences :

(vi) plANSTT 1 8 ? 1

What is collodion ?

(vii) 70 AT Y7 €Y oy F 1.35 V & ReR
fog & 21 @ ? 1

Mercury cell gives a constant voltage of
1.35 V during its life time. Why ?

(viii) T BT 8 99 PCls % T %% & 7 1
What happens when PCls is heated ?
4329/(Set : D) P.T.O.
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(ix) [Co(NH3)4Cl(NO,)|Cl@ ITUPAC 9 CUE .
Give IUPAC name of [Co(NH3)4CI(NO,)|Cl.
(x) [T Sfifshar &l U i ¢ 1
CH(CH,;),
(i) Oy
(ii) H*/ H,O
Complete the reaction :
CH(CH,),
@ Oy |
(ii) H*/ H,O
(xi) SFSTIER BT F B & ? 1

What are Non-reducing sugars ?
(xii) Il ST & & I HE M & ¢ 1
What are two main functions of Nucleic

Acids ?

o) H
(xiii) Icl*—(CHz)s—le TAE B Ak IHE

?

faRaT 1

ﬁ H
Write monomer unit of +C-(CHj,)s — N

polymer.
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(xiv) B FHEM AYTH B AETHRAT F TSl & 7 1

Why do we require artificial sweetening
agents ?

[ iy ST 99 ]
[ Very Short Answer Type Questions ]

2. P A & T4 99 BEHRY B CO, B ARKT IramEe
T g% Fiied ST OeeE & @ ™ Hd § ¢ 39S
fere e e off i 2

What happens when white phosphorus is heated

with Conc. NaOH solution in an inert
atmosphere of CO, ? Also give chemical
equation for this.

3. TAEHN F BT ? 9 98 @ 9 g yaR R B 72

What is glycogen ? How is it different from

starch ?
4. MG TgaE M o ! Th SETE  Qfhied
UifeTuEex 1 I3 i) 2

What is a biodegradable polymer ? Give an
example of a biodegradable aliphatic polyester.

5. 349 ¥ FM AN & ? H,-0O, 389 I § B awll
At ferfam 7

What are fuel cell ? Write reaction taking place
in Hy — O, fuel cell.
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6. SieT T Hio-ueet ofwy i & & § mEn S
2, W] 98 g & @ 7 a9 @ el et ¢ 2

While antacid and antiallergic drugs interfere
with the function of histamines, why do these
not interfere with the function of each other ?

7. I F FEIH 353.23 K & 1.80 g amwsfiad fao
F 90 g =19 H O W G@aT H FaATH  q6HT
354.11 K & 9@l 81 a0 & Wk &=|M & O
FIRTT w9 B T Kp &1 79 2.53 K Kg mol ™ B 2

The boiling point of benzene is 353.23 K. When
1.80 g of a non-volatile solute was dissolved in

90 g of benzene, the boiling point is raised to
354.11 K. Calculate the molar mass of the
solute. Ky, for benzene is 2.53 K Kg mol ™.

8. Hid @ I PRl H AAEH SN H AN drll T2
aqt § Frfaiaa sifiean 8l B ¢ 2
Zn(s)+ Ag,0(s) + H,O(l) » Zn** (aq) + 2Ag(s)

+20H (aq)
GTﬁﬂ?lv'QT % %fq AYGO Qa E°cen FC Elﬁﬁﬂll
E°Zn*'|Zn=-.76V E° Ag" | Ag=+.80V
In the button cells widely used in watches and
other devices the following reaction takes place :
Zn(s)+ Ag,0(s) + H,O(l) — Zn** (aq) + 2Ag(s)

+20H (aq)
Determine A,G° and Ecen for the reaction.
E°Zn*"|Zn=-76V E° Ag"' | Ag=+.80V
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9. HieRar X Aa § fade Fifvm S F & qoEe |
HIF-T1 G B & AR ;P 2
Distinguish between Molarity and Molality.
Which of the two is affected by temp. and why ?

10. TF (EEMS TUHT N UHia U9 sfice™e § O
B 2

Distinguish between Aniline and Benzylamine
with the help of a chemical test.

11. 3TY I P m-THGHHT § HY gRafid A ? 2

How will you convert benzene to m-Bromophenol ?

[ @Y ST 99 |

[ Short Answer Type Questions ]

12. FrfaRed gt & T (93 § g H8 #2241 =3
(a) ek e g wd g Higs dega
(b) =herhid Rise T Tchern Ris|

How will you distinguish between the following
pairs of terms ?

(a) Hexagonal close packing and cubic close
packing ?

(b) Tetrahedral void and octahedral void ?
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13. (a) U Y¥H Fifc & A¥EEA § 30% A 21 |
40 e T 21 ty, B TOMT BN 2

A first order reaction takes 40 minute for
30% decomposition. Calculate t.,.

(b) HHge SMIRT e @ed § 7 1
What is meant by collision frequency ?
14. =1 q&l (sr<=) B qwemsy 1x3=3
(2) IET FOT FeeH
(b) UcwhlEld
(c) oTdRd

Explain the following terms :
(a) Electrophoresis

(b) Alcosol

(c) Dialysis

15. =i foftdl s/ oaigell & e & R @l
ST T 1x3=3
(a) Fba e &1 Hi WHA|
(b) IEI-AIHEA TR
Outline the principles of refining of metals by
the following methods :
(@) Mond's process for refining of Nickel.
(b) Electrolytic refining.

16. (a) freed & Risid #1 5gFd HA gC T % B4
SFACEIHS (1) ST § i STgfd soae o
afh oFAEE AEH H dad TH & AP
ESEEL I 2
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The hexaquamanganese (II) ion contains five
unpaired electrons, while the hexacynoion
contains only one unpaired electron.
Explain using Crystal Field Theory.

(b) Wie gt fE Fed © 7 1

What is meant by Chelate complex.

17. T9EEC H& o 1%x2=3
(a) Uchleled qem KI &1 afffeanr & acwgRe ot i
SYENT TE B 7

(b) IRMERREN o Srisharett § Qe FiNES n-
M Feizs | At Brasliar &rn & ?

Explain why :

(@) Sulphuric acid is not used during the

reaction of alcohols with KI?

(b) Allyl chloride is more reactive than n-propyl
chloride towards nucleophilic substitution
reactions ?

18. =1 WX &y fewoql fofem ¢
(2) EE-EMA SAfisHa| 2
(b) STHHRHT X 1

Write short note on the following :
(a) Reimer-Tiemann reaction.

(b) Unsymmetrical ether.
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[ & SOF 99 ]

[ Long Answer Type Questions ]

oM™ 41 B ? H =T ST 2

What is Oleum ? Draw its structure.

FIAH dacl TF Aot HOF SHRT 8 etk
3 SO T STl S & ¢ dl ! 2

Fluorine forms only one oxoacid HOF, while
other halogen form several. Why ?

frreferie aAf¥rishar sl QX i 1
Complete the reaction :

ST

OR
P T B RS AR B uf sl &
T FRT & 7 2

What are the reasons of inertness of Noble
gases towards chemical reactivity ?

OF, T O,F, % S TEe Fad & 7 %
TP SATFES| qHEAET 2
OF, and O,F, are called oxygen fluorides
and not fluorine oxides. Explain.
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T 16 & qE@l & SEFES P TR b q6d HA
4 e HifT) 1
Arrange the hydrides of group 16 elements
in increasing order of their boiling points.

WHA Al W offRliNeT el H
qREcAsiier STEERAYT aTqan H Sffaiih T sTaerat
¥ gRaEcasiicar § 6 meR B & 7 SEEier aa
W I 3

How is variability in oxidation states of
transition metals different from that of the
non-transition metals ? Illustrate with
examples.

AR (1) Rl (1) & offtrp &l |1 8 7 2

Why is Europium (II) is more stable than
Cerium (II).

AYAT
OR

A AW B ST Ol dl B I HioTT o
+4 TT +2 SFRIHOT ST 39T El 39 THN B
FAER T 7 el [OaE & Sd oy
g i 3

Name the members of the lanthanoid series
which exhibit +4 oxidation states and those
which exhibit +2 oxidation states. Try to
correlate this type of behaviour with the
electronic configurations of these elements.

D) P.T.O.
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21. (a)

(2)
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RO OIqE AR TN AR SR 81 IR
ity 2

The transition metals generally form
coloured compounds. Give reasons.

HCN 3 Y9N & 919 e aRT] STkt &
fore feranfafer ifsm 2

Give mechanism for the nucleophilic
addition reaction of HCN with propanone.

TR 9999 TX T% feuelt [ 3

Write a note on Aldol Condensation.

ST

OR
HIaIRAleR STl i STFar I Uferenfal & g
& ING I 3

Describe the effect of substituents on the
acidity of carboxylic acids.

e B CrO; & WY S~ifceess d SfaimoT
qEiiesd TIEgEs H SuRdd ¥ fRAT S R
i ? 2
Oxidation of Toluene with CrO3; to

benzaldehyde is carried out in the presence
of acetic anhydride. Why ?
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